Pull of x for PV

Ratio

Pull ot y for PV

Ratio

Pull of z for PV

Ratio

Pull of x

T e

Pull of X for merged vertices

gt

b PP PR TOUT TOUOE IO TOUTEY OO T

: o +Bf 1 D — o O8f ;
; E r : : + : 11 5 r “
R I H+++++‘|+H dlEa - e TE B
°H5=i5=i0 5 0 5 10 15 20 08515 =10 50 B 10 15 20 05 =15=16 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

= W B

2

> C 0
r 5 F 8
I S N i ( E = 18 £
IR R e FO O T ] B 1 1 A feeees > r 1

1.8 : : R HE : * 16 ;
I | AR E {1 c g

R SR KR SRR SRR i 2
N I EEE I 1.2k =
- : : : R d R : : =}

R S 1 0 [ 11 T SRR 1 >
SRR osf 2

L2 06 2
- : 0.4F

0.2F
favs)

AR |

Ratio
Ratio

.
AL LU L L

0 -15 -10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm)

0.8
0.6
0.4
0.2F

10

2 N2 T 0w 2 7
E 5 [ T S I 1 ¥
18 = F i = :
I N § [ . A, P feeees o i

1.6f i T 1 R R R o
I 1 ] S S A S
14 ) I S A SRR A o
1.2 N 1 | S A E
=)
il N
S
5
I

Ratio
Ratio

15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


